AREH—HER

AEH—FENRIE & XHTER 50%
Fr(Ic#EL) T(cEY) BE(ICHEL) B (IcHY)
100%% ¥33,000 ¥68,000 ¥38,000 ¥74,000
B { @330 @680 @380 @740
300% ¥81,000 ¥165,000 ¥93,000 ¥174,000
B @270 @550 @310 @580
1000%4
s AR Fy g HY FEIEERY -
A8 h—FENRIE & SEETER 50%
r(c#EL) r(IcEY) HE(ICHEL) Hk(cHY)
1004% ¥48,000 ¥54,000
Hiff @480 @540
500%% ¥176,000 ¥194,000
1 @352 @388
1000#% ¥264,000 ¥300,000
B {iff @264 @300

$1=¥120 % # ¥ 5000
 FERZ FRY T EY
GCSIR{fi fr (ICH&L) " (ICHY) Bk (ICHEL) #(cHY)
1004 ¥16,400 ¥34,000 ¥19,400 ¥37,000
200#%
300%% ¥40,000 ¥82,000 ¥46,000 ¥88,000
500#%
1000%4
AHIER Y -
L T1c
GCS/R {ifi A (ICHEL) r(IcEY) B (ICHEL) B (ICHY)
1004 ¥24,000 ¥27,000
5004% ¥88,000 ¥97,000
1000%% ¥132,000 ¥150,000

L D1c




